T3 FE WEFRRTGTHERTIARE RS HER
 HMI34E9A28HK-29HGK) - 30HC

INATy b=V UILZILAEREE)

[BF) =B% [£27] =0
69 | 50 50 | 69
9 14 15 14
23 9 14 20
699 19 10 (%0 509 1o 18 (69
25 17 11 17
84 52 63 33 60 33 46 41
51 ﬁl 68 _6_5‘) 63 i‘3
= I J| = + )1l = 1| = = +
H b ¢ [E] ] & 3] W it pic] ] &
By h— (RFEUREEINEZEHN T T > R) P ER (= B EB N EEERYS)
=T I JUAE «
9 | 3 10 | 0
1 - 1 8 4 1 4
1 - 1
/S S 3
0 — 0
5 Vi 9 0
I = .
|-————‘ . ﬁ [if) &
= §?ﬁ%>1 K |
= = 5 4[5]6]7] &
;'t' ﬂé = * % = 0 T A L 0
7 ni-m b kb0l R Falac) 10
NL—R—=)L (ZBKEEE)
(7] (22F]
J—Z1 HE AY—7
OoF 2 - 0 JIiFE O Gies — @9 JHHE
@=%- 2 - 1 Jiid hy b — =9 =
o - 0 — 2 =H-.-p ® | ik I — 2 =
- BY—%
J— ¥ 2HHE OF = e — Aap =7
oy 0 - 2 Jid @ =mn 0o - 2 JIEE
@ Jil 0 — 2 =ZX-F OF g — =@ JIFE
®@ JliFE 0 — 2 Ji Ak
; B JZ{LFE
’ 0 | 9
167 | =3 - |3
oL [zirde [2 85 1 B 14 25
R ENE 1B 2B 0 17 25 9
M ZziLeE | 3B
] ]
= + J| J1|
E3) & it 3
L |

0 [ 7



U2 P2 (2= A% ¥ —)

EEatilty| (T[]
AY—7 AU—%
@  Jide I - @ @ EEmE 0 - 0 U
@ = 0 - G &l @il @ - | JilEE
® Jimg ® - 0 JidE @il © - 1 =
BY—7% BY—7%
© = ) Qe © - ( e
@ = ® - 0 = @idEE 1 - © =
O 80 - @ = ® =B 0o - ® =
=7 =%
1 | 9 0 |
] 1 ]
Jil = = = il = = il
3 H 3 i} it P * &
(5B FEA) (7 A
If] mE =16 e s | ] mie 5ok R Mk T
UL A Bl EE =5 Wi =% &Ei RH w54 | —
| A% wmin BB AR JiTF 3fr| SFE RAxT ME B =
AN PN =% 0L EA AW T TR TE
B (7Y —F 1)
(3 FHIK) (BFEAN 2227 2)
EES SEE 6] N BR[| Te
o ZILdE 405 1K | BF el | —E
R ER 32K hr| &1 K#h | Ik
M |=BF |23y i HBE DE | IR
aild gg%ﬁ é§4m (BTEA Y7L )
1] Fad FnF0 | &)1 P | =
U] NE ZE | oheE B | =
Wil e = Al me |
Sz Bl AR | PEx e | I
(& 7] (ZFEAN 22 Z7IVA)
=T Y 6] | RE | &
o JIZILdE |36 1K i HN By | =
. | =5 | 2ol | & =% | =
RS 1B 3K hi| Bk B | =%
ot V.2iLed |4 M (LTFEA ¥TIL ]
] B TH | &k =s [ =
Uz BN EE= | kMl kB | =

V7 hR- CERESBRRZENT T2 R)




FiE (IZILEEEH)

(3 FHIK] (27 HR]
RoARNIEs Iz [=78
P [ =78 A NIE
RENA RYA
447
(5T A) (221 A )

1 EiE JIE, 6z | ke B¢ | =
50kg| 217 i HBE [ 40kg| 2471

RYiA ST ek [ e REbA

1L WA JIr RN ER
55kg| 247 44kg [ 2

REA REDA

17 R BN 67 | & ik | =/
60kg| 21z AT - |k 48kg| 2L

3T EE RN | = 37

17 A HEE | = 17
66kg| 247 52kg| 2fT

3N RY0A

17 AR ER | = 6. | EH <5a4 | )it
73kg| 207 5Tke| 27

RIa 30T

1L Sl B/ | =/ 1z
81kg| 20 63kg| 27

RY0A 3N

17 67 | W% %E | =/
90kg| 27 T0kg| 27

RY0A 3L

[¥a JEbA
9%05@ A %kg A
= [ 3fL Rl

fE (JIZILIEEERE)

(B HK] (22 [ K]
I |27 7 o5 I 2307 | 1
2 |= B I 1B o [MLZITIE | 1%
RS 288
4
547
(BFEAN] (ZZFEAN]
157 [ H= JI1 = 167 [BEsk R JIde
L |RIR  BHE JIL UL TN A5 | IR
RINE 35 JI1dE ML |BAAR = e
L ke Bt JIl 3N |HIH MR JIIFg




NEIZbhY CERBEEESTTY—F)

[ 5B FHIK)

17 T 1150 B
2iA = | OB
HE ol -2 LRE
(227 H{K)

1457 T 1150 B
27 = (IR
wE 1 -2 tE

(BFEAN>ZIVA]
I | Kkl AR | B
o | KRhd ERHE | H/E |
M | WM EBE | EE
My | HZE N | BB
(BFEANY TV A]
] BA FH Bl =K | tE
oz kRE FEEE e o e
3zl NI E Bis i 3 ] R
Al EER IR =Ha ke | ERB
(LAY > 7 IVA]
157 HH B [ FE
ofr | irh BEER [ B
M | 2l E [ EE
A | K ER | FHE
(L TENY T IV A)
AR Y BA EE | IE
A S T B Br | TR
Ihi]  E BB BAR % | bie |
ihr] Rk FE i E s




e kit (ZEEE) )

G346 A 5H (K

(BEF)
14£100m 1 S R SN BT 3000m | [EAR —#] )i [ 117 457
2 | e e T 9
3| Bk E | EE] 1379 3
411 & Es A 4
4 1 )il gLk [ g | 1472 4
o BN A [TiE | 1476 b
= Bepk | tiE ] 1476
24E100m | 1 | BEHE RE || 12°2 110mH 1 [ %R BIE[JIE] 180
2 | hA& BBk | )IEm ]| 1274 2
3| m BA [N 1275 3
4 |\ FEgE | =® | 140 4
5 5
6 6
3FE100m | 1 4Xx100mR | 1 | JZ7Lra 4879
9 )
3 3
1 1
5 5
6 6
200m 1| Bk e [ JiImE | 2479 =k 1
2 | M BRI [Jim] 2672 2
3| & =k | EE] 266 3
4 | Rva &K JIlFm | 2771 4
5| Al #E | EE] 287 5
6 | @k E [ EFE] 291 6
400m 1] iz BBz | JIlE | 17 03”2 FhEpk | 1| K #K | IR | 4mbT
2 | AN s | EE] 170973 L] B E [ = 4m34
3 B R T s S| E&H E&|JIIE] 4m22
4 4 il gk [ JIlEE | 4mll
5 5 | A1 A T | 3mo3
6 6
800m 1 | K e [ Jm ]| 27 2074 =Bk 1
9 i
3 3
1 4
5 5
6 6
14£1500m | 1 [#EAR —®t[ JilEg | 57 14°4 BT T AE fE| = Tm31
2 2 | af | £E| 5m26
3 3 | A ZEH | FE| 4m40
4 1
5 5
6 6
EIS00m | 1 [ Kk e [ JIE ] 47 5278 1
9 2
- pE
5 5
6 6
3AE1500m | 1 we 1 N2 82. 6
7 2 = 37.5
3 3 [z 12
4 4 —BE& 9
5 5 =57 5
6 6 =B 0
PUiERR % ;
3




(%7]

14£100m 1 [&FF S<5]= 1375 100mH 1 | Ba E3ER| )M ]| 1678
2 [ Kk Ee | i | 140 7 | Bl Awa| — 172
3| Bl Ex | =m| 146 SIAME mAME| B[ 179
T &E »0 [ 147 T kKM # [J@| 188
5 | Kfa BE | = 1478 5 | &H AE| = 20" 4
6 [E]Il PmE = 14°8 6 | AR DWW | Jilm | 211
EEL00m | 1 | ede  oBE | — 1374 4X 100mR | 1 =Em 55" 1
) | EH WmE | = T | 2l 5575
3 P = O[] 1471 3 [EynaE 59" 1
4 |BER 3R )IFE]| 1472 4 SBIEE 60" 6
) | BH A#Z| = 1473 5
6 | A E mAME | /B 14"4 6
34E100m | 1 Empk [ 1| fEhd @%K JIIFE | 1m30
2 2 | KA | = 1Tm25
3 3 [ K/ Fik [ JidE] Im25
4 4 (AR B | JilFE | 1m20
5 5 | & EEI|JIdE] Imlb
6 6 & || Imlo
200m 1| RE | = 27" 8 BEagk | 1| s 2| JIIE | 2mb0
2 |HRE =<5 = 28" 1 2 | H AN | JIEE | 1mT70
3 | FEH W | = 2879 3
4 | K\ BE [ Jlm | 2973 4
5 | Atk EuE [ JIdk | 29°7 5
6 [l mehd3E] Jim | 2979 6
800m 1 e mh | JIEE | 27 46”9 EmEpk | 1| G = [ )M | 4mA4T
? | BH =% | —m| 2 538 2 | fnEE A [ JilFE | 4m07
3 | diiE = | JIdE | 27 5575 31yl EFE | JiIp | 3mb
4 | /hEs AEAE | e 37 0378 4 | kg AR | JIdE [ 3m8Y
5 b | BAR x| Udk| 3mTl
6 : 6 [l s =R R Gh
141500m | 1 | /M WAE | JIAE| 6 0370 fad | L |miE w=5] )i | 7mso0
! | e 2@ | JIdk] 6 395 7 Bl PwmE] = Tmb53
3 3 [ fdE ERL[JIIm | 6m48
4 1 &H _AE| = 6m45
5 5 | JEE oW | i | 6ma2
6 6 | & EFER | JidL | 5mo3
2E1500m | 1 | HE BE | LE] 67 140 wE 1 JZ2iLFE 84. 5
5 2 BT 16. 5
3 3 JZILIt 39
4 1 —E 7 16
5 5 T/ 14
6 6 BT 11
3£E1500m | 1
7
3
4
5
6




TR 3AEE  WMERRTHERARERR

e AR —E

B 53 £ R = i % %

211 Z iL | T &
7 SR S

Z |1 Z 7L | = [E7]

' BI|= 5 H|= [iic}

Ny bR — )b

Z|= 5 7a| )il v 1L A
¥ oy B = = B 7 = & = Z 1L it
X " Rk Wz iLdt - NIl Z{L |+ &

2= 85 ®H - = B ®El oz 1L it
N L — R — )b

Z || Z iR M= [E2]

Bl= 5 |1 . 1L 5]
Y 7 T = A

7= = =) 2 1L At

B1= = ) Z 1L at
i ER

z|= y= = 4 1L it
v o7 kR — | &

UV Z ViR t|= [iif]
% i

7Z|= = 7a| )1l Z 1L it

I Z 1T M= [iiz]
A ]

-l L 1L |l Z 1L Jt

B 1+ J&E | # =4

NEI >
z |+ f& | # =




